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301 EtE NS 6,000 0 6,000
= 3,000
Al 3,000
14 DBt 2 a=S 6,000 0 6,000
OtlA=sel Sdedsus Hadl A&
1,200,000« 1H 53 6,000
= 3,000
Al 3,000
Y2 AZH (=S (DIEHIIE 206,951 205,772 1,179
el 2| 59,821 57,479 2,342
el 2dd| 59,821 57,479 2,342
101 @124H| 59,821 57,479 2,342
03 SRH(RINAHA) 222+ 59,821 56,246 3,575
OAlte22+E 54,767
oJIPAT
13,5613 *9Z*20 Al 2t 12 +150% 43,938
o<ChHEZ
15,0403 2 *20 Al 2t 122 *150% 10,829
Oosdaz=¢ 5,054
os)| A=l 180,472 x2&x 14 5,004
=238l 147,130 148,293 1,163
JI23Hl 147,130 148,293 1,163
201 =3 82,450 83,785 A1,33%
01 At22t2lt] 28,540 28,775 A235




SN SENED
. dY2I3H(sEED) (OIEHIIE
s Jl=dhl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ogur=gb Zoa
11,494,000 » 14 11,494
OSgHl S9AHd 17,046
osFd 17,046,000 * 14! 17,046
2 S52g4l 53,910 55,010 AT1,100
O=32= € MAl S9N
8,000,000 +14] 8,000
OAIZZEHISXIH SHA
15,000,000 * 14 15,000
OXtEtl sS4 A& 30,910,000 * 14! 30,910
202 04| 59,180 59,108 72
01 =LHOLI 23,180 23,108 72
ORN2Y SN 4 7,300,00024 14} 7,300
S 28 U 2 I8 08l V(2
) 10,0002 x2ZH+82L 1004 1,600
OsJIH =2l & 8 s &It HHl(3%
) 150, 0002 x2& »23] 600
OSMAE It25tH & LERE HME5
=T 0IHI(BRE)
10,0003 » 7& = 152] = 122 12,600
OFASTAZ 243l F0IH|(22R)
10,0002+ 1+« 123 1,080
02 X0 36,000 36,000 0
OSERSAIY 1 FA0HY
200,000 x 15« 122 36,000
203 =] 4,800 4,800
M FA2SLRFEI 4,800 4,800
OsEdSHEH 30Y)
400,000 123 4,800
405 AHatE = 700 600 100
01 ML ESFSHI 700 600 100
O=2ZEY 2228 79
700,000 *14] 700




